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FIRST PART ?
General Mental Eligibility

1. Which of the following is different from 1.

the other three ?

(A) Goat

(B) Deer

(C) Buffalo

(D) Leopard

2. Find the missing number : 9.

2,3,5,812,17, ...

(A) 23

(B) 21

) 22
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| T
QT AR St

AR e da A R 872

(A) FHU

o w4 R
2,3,5 812,17, ...

(A) 23

(B) 21

© 22

(D) 19
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3. Inadinner party both fish and meat were 3. W& UM oIS U H weelt iR Wi SRl 9

served. Some took only fish and some T FS A Fad qoel iR T 7 719 e
meat. There were some vegetarians who @ ?TIEBTBTﬁZﬁ ":I @5 ‘lﬁ '5ﬁ7=h'l'{ =|€°f ml
both fish and meat. Which of the ﬁﬂfﬁf@ﬁ ﬁ '@ Eﬁ‘[ o1 ‘a';I STIi'@ 'H%"\' 3l ﬁ
following Venn-diagrams correctly 79 fearfq =1 qwien 2

reflects this situation ?

a [ QD | a [ @
(A) Q (A) O
(B) @ (B) @
O O
© . ©
O O
@) =@
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4. Which of the following diagrams 4. fretfafaa & ¥ R o o o, & iR
represents correct relationship among el % " TE Ty H Toiian § 2
Rose, Marigold and Flower ?.

506~ .00
O O

D) (D)
5. Find the missing number : 5. foqw W& F 6 R |
2,3,4,98,27,16, .. 2,3,4,9,8,27,16, ..
(A) 87 (A) 87
(B) 75 (B) 75
(© 81 : (©) 81
(D) 68 (D) 68
6. Choose the odd one : 6. Tm=mr gl
(A) Bhopal (A) T
(B) Chandigarh (B) =ENTE
(©) Jaipur (©) AR
(D) Patna (D) 9N
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7. Which will complete the following letter 7. Frefeifaa srer Jut =1 i qof s 2
series 7
ce 2 ,gkmaqgs ce_?,gkmq,s
(A) f ——— (A) f — e
(B) h (B) h
< 1 € 1
(D) e (D) e
8.  Which will complete the following letter 8. Trafafaa sar Jvft & & Of HLm?
series ?
<88 k,.m, q,'s, 2 ¢ ggkmqgs 2
(A) n (A) n
(B) w (B) w
© p < r
(D) None of these (D) T 9 =i TRl
9.  Which will complete the following letter 9. =t S1eR goft s S Ul w2
series ?
a,zbycwd _2 ,é,s,f,q a,zbycwd _?2 ,es/4fq
(A) x (A) x
(B) v (B) v
€) u € u
(D) None of these (D) T 9 %3 T8
10. Find the missing number : 10. focre e i 3 FHISC
705, 728, 774, , 935, 1050 705, 728, 774, , 935, 1050
(A) 844 (A) 844
(B) 845 (B) 845
(C) 846 (€) 846
(D) 843 (D) 843
11. Choose the odd one : 11. fiw = gfwl
(A) 3:21 (A) 3:21 i
(B) 5:125 (B) 5:125
(€ 7:343 (C) 7:343
(D) 10 : 1000 (D) 10 : 1000
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Direction : For Q.No’s 12 and 13, study the
following figure carefully and answer the

m :B__ & PR

C - Unemployed

questions.

12.  Which region denotes educated villagers
who are not unemployed ?
(A) D
(B) E
© G
(D) F

13. Which region denotes educated
unemployed villager ?
(A) A
B) C
© D
(D) E

14. What is the minimﬁﬁi number of straight

lines that is needed to construct the -

following figure ?

(A) 16

(B) 17 Yt
(C) 18 ' :
(D) 19

GET IT ON
Google Play

ot ; ot wE 12 3 13 % forg Frefatea
o 7 SR JTTIEN HIAT T YAk ST
Uiy

12. aﬁ?m%ﬂﬁrﬁﬂﬂu@wﬁréﬁmﬂ?ﬁ%aﬁ

I € 2
(A) D
(B) E
© G
(D) F
13. S & fafia St o S gufar s 2

ey

(A)
(B)
©)
(D)

14, Freif s T = Ferd e
-5l e i s A 2

m g0 »

(A) 16
(B) 17
(C) 18
(D) 19
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15.

In a certain code language, ‘312" means

‘study very hard’, ‘514’ means ‘hard work

16.

17.

pays’ and ‘357" means ‘study and work’.
Which is code for ‘very” ? _

(A) 1
(B) 4
© 3
(D) 2

Count the number of squares in the given

figure :

B) 21
24
26

Find the missing term :

CK
(O8]
KM

14 7
22 17
pv ? ?

15..

16.

(©

17.

GET IT ON
Google Play

afe fret gikfas g & 312° =1 gaee

study very hard’, ‘514’ %1 Hae ‘hard

work pays’ 3T ‘357’ il Haed ‘study and

work’ ¥ 1 ‘very’ % fau s WL Rig &2
(A) 1
(B) 4
© 3
(D) 2

< TR emta A Sl w1 e w1 T
HIT :

(4)
®)

11

24
26

faq a8 9@ Hifsa)

JR

14 7
22 17

CK
oS
KM

(A)
(B)
(©)
(D)

12, 19
19, 12
24, 38
38, 24
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18.

" In certain code language, ’HOUSE’ is 18.

written as ‘MTFWT'. Which word would
be coded as “WATER’ ?

GET IT ON
Google Play

afe Tt wikfas w1 § ‘HOUSE' &
‘MTFWT Toran s 81 “WATER’ & fag

3 e § HH-T1 YR o e ?

(A) AGEJW (A) AGEJW
(B) AEGJW (B) AEGJW
(C) AEJGW (C) AEJGW
(D) EAGJW (D) EAGJW
19. Which letter will come into blank space ? ~ 19. @il T H SHIH | STER A ?
CE| T | O E|J|O
A C B A C B
F M F M
A) K (A) K
(B) R (B) R
<« r < P
D) Q D) Q
20. Find out which of the following answer 20. & @ S fom, srfa e =1 T @
figures completes the figure matrix ? %, T el ?
RN HEIER
1 ] 1
|1 s
Answer Figures : FGOEER
| | B ot | | | |
Y ) () (V) ) (1) (1) (IV)
(a) O (A) (D
(B) (1) (B) (I
(© (1 (© (m
© @) S W)
SPACE FOR ROUGH WORK / T% &1 & & <ie
9120/ TF-DT/PP-E 9 Set- A


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

GET IT ON
Google Play

Addal247
+21.» Find out the figure amongst the options - 21. - & T fogwed 9 o8 fax ﬂ'ﬁ'& SRR EEl
which can be formed.from the pieces oo Bf@Am™ gﬁ ¥ IR S B
given in the following figure :
(A) (A)
(B) (B)
(© (©)
.o | ' : . D
22. In a certain code language, ‘PRINT is  22. 3afg f&«t wigkfas v & ‘PRINT =1
written as “GIIEB’. How would “WATER’ “GIIER’ fe@n simar ©1 @t s§ #ig #
be written in that same code ? ‘“WATER’ &1 %9 fagd ?
(A) AEBEI (A) AEBEI
(B) EIAEB (B) EIAEB
(C) EABEI (C) EABEI
(D): EAIBE « .- (D) EAIBE
23. If + standsfor X, — for +, X for —and  23. 3G +1 3T x & AW, — =1 IFGT +
+ for +, then find the value of : F e, x #1359 — % fou ok + @
' I + & fau e, @ :
25+79-5%x4+7 25+79-5x4+7
T HF 1A oy |
(A) 400 (A) 400
(B) 399 (B) 399
(C) 398 D) 398
(D) 397 it (D) 397
'SPACE FOR ROUGH WORK 7 Y% &Td & {1 g
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24. Find out the two signs to be interchanged 24.

for making following equation correct :
6+3x8-24+2=5

(A) + and —

(B) + and X

() + and +

(D) - and +

25. Find the odd one out : 25.

—»> < i \
) (In) an (1)
(8 O
® (@
(C) (1)
(D) av)

26. If ABCD is a square, then which is not 26.

correct ?

©i

A E B

(A) AE=DH

(B) EFGH is a rectangle

(C) Area of square ABCD=4 AAEH
(D) BF|HD

W\ =

‘ GET IT ON
Google Play

fope <) Toral =1 o ® sgen W Frefete
TefeRTor W B, G it |

6+3x8-24+2=5 -

(A) + 3 —
(B) + ¥R x
(€ + 3 =+
(D) — 3R+

fiet =1 9@ w9

< [# [
(1) (I) (II0) (Iv)
@ @
(B) (1D
©
(D) (V)

_b

Ffe ABCD T o &, <l o1 T -Tél & 2

D G C

O
N\
A E B

(A) AE=DH

(B) EFGH TH 3T I

(C) o ABCD i &alhei=4 AAEH
(D) BF||HD
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27 Whiéh number will come into plank ? 27 el M | A | S ’?
13 | 49 N 13 | 49 .

9 17 | 69 9 17 | 69
13 | 11 | 59 13 | 11 | 59

A 5 (A) 5

B 9 - (B) 9

(€ 10 € 10

(D) 7 (D) 7

28. How many triangles are there in the 28, TrifeRa o § R fyw €2
following figure ?

(A) 28 (A) 28
(B) 30 (B) 30
Q) 26 , C 26

(D) 32 (D) 32
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29. How many dots lie opposite to the face 29, fiu mu fa =i afs AesH u o7 T 51|

having four dots, when the given figure 4 forgell ot was & W fea fag
is folded to form a cube ? et 37 ?
(A) 2 (A) 2
(B) 4 (B) 4
< 5 (C) 5
(D) 6 (D) 6
30. Find the missing term : 30. foqq@ 9% 9 WIS
Cis|Byy Cis|Byy
Dy Agg D, Asg
?|H, ?|H,
F, G, Fg G,
(A) Eg (A) Eg
(B) Eyp (B)  Eyg
© I ©) I
(D) L (D) I,

SPACE FOR ROUGH WORK / T% &rd &% fordr wre
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' 'SECOND PART
General Knowledge

31. What percentage of Gross Domestic
Product of India would be allocated for
development of education ?

(A): 6%
(B) 8%
©) 10%
D) 12%

32. Who of the following has founded the
Arya Sarhaj ?
(A) Swami Vivekanand
(B) Swami Shraddhanand
(C) Swami Dayanand
(

D) Swami Brahmanand

33. Whichis the first biosphere reserve region
of India ?

(A) Nandadevi
(B) Sunderban
(C©) Nilgiri
- (D) Great Nicobar ' o

34. Which one of the following is not a
principle of Basic Education ?

(A)
(B)
©)
(D)

Craft centred education
Liferécy
Dlgmty of labour

Teachlng in mother tongue

31.

32.

33.

34.

Y

(B)

GET IT ON
Google Play

foea v

AW A

forean & fam & fau e e AR #
foram wftrera =z fohan ST =g ?

@) 6%
(B) 8%
C) 10%
(D) 12%

o

Fraferfaa & & ey o eI Y T
i ?

(A) @ fadere

(B) W 4BHT

(C) wrt <aF]

(D) Tt SI"IFR

YRA & Yool Saqed GRh S fa @ e ?

Trafrd -
T2 fEer

©
(D)

et & & i w aFE firn o g

T E?

(A) fores Ffea faen
e

(C) I 1 A
(D) wrgrn F e
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35. Which one of the following is a incorrect  35.

pair ?
(A)
- (®)

Mahatma Gandhi - Wardha Scheme

Mabharishi Aurobindo - The Life-
Devine

(C) Vivekanand - Gurukul
(D) Ravindranath Tagore - Shantiniketan

36. Which state boundary of Ind;i_a. fouches 36.
1

three country ?
(A) __‘]amr‘nu—Kashmivr
(B) £Sikkim
(C) Himachal Pradesh
(D) Arunachal Pradesh
37. Main Tin producihg‘staté‘vis : i
(A) Jharkhand
(B) Chhattisgérh
(C) Madhya Pradesh
(D)

Telangana

38. The tenure of Lok Sabha is counted : 38.

(A) From the date of notification of

election.’
(B)
©)

From the date of polling.
From the date of declaration of
result.

(D)

From the date of first session.

37.

GET IT ON
Google Play

frafafaa & ¥ S @1 Sire] gHfed @ §?

\A) e ot ot
(B) el sRfor< - T ARF feamed

(C) faawr= - TeFa
(D) Tty TR - wiftRa

m%mmaﬁxﬁm?ﬁ?i’?ﬁﬁw
Fl § 2

(A) T
(B) Taferm

() ferm=a W
(D) ST W’

(A) WREvS

(B) TEITE

(C) ¥&A W™

(D) dT

SR [T 3 HTdHTel kT U i IR S :
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39. Which of the following statement is not

related to the formative assessment ?

(A) It is organised at the end of the
academic session

(B) It's purpose is to improve the
students” achievement

(C) Itis a integral part of teaching
learning process

(D) It provides continuous feedback to
both student and teacher

40. Due to a violent incident at which of the
following place Mahatma Gandhi had
withdrawn the Non-Cooperation

Movement ?

(A) Champaran

(B) Purnea

(C) Kheda

(D) Chauri-Chaura

41. Who amongst the following invented the
small pox vaccine ?
(A) Edward Jenner
(B) Robert Koch
(C) Louis Pasteur
(D) Robert' Hooke

42.  Which of the following city is largest in
terms of population ?
(A) Delhi
(B) Kolkata
(C) Mumbai
(D) Chennai

39.

40.

41.

42,
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43. In which of the following year the  43.

Indo-China War was fought ?
(A) 1948

(B) 1950
(C) 1962
(D) 1971

N’

44. Who has estimated Gross National 44,

Income of a country on the basis of
consumption ?

(A) Marshall

(B) Pigou

(C) Fisher

(D) Paul Samuelson

45. What is the GDP growth rate for Indiain = 45.

2018-19 at constant prices as per World
Bank Report ?

(A) 7.5 percent

B) 7.3 percent

(
(C) 7.4 percent
(D) 7.2 percent

46. What is correct about Rajya Sabha ? 46.

(a) It is a permanent house.

(b) It can’t be dissolved.

(c) 1/3 members are retired on every
two years.

Q.
Nt

It's tenure is 6 years
(a)

(), (b)

@), (b), ()

(@), (b), (0), (d)

=

—— A e
o=
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(D) Television (D) TEEHA
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51.

52.

53.

THIRD PART
Educational Interest

Which among the following is not a

function of NCERT ?

(A) To prepare and publish study
material for students and teachers

(B) To launch, organise and strengfhen
research work in various aspects of
education '

(C) Allow grants to the universities and

colleges

(D) Revamping of Elementary and

Secondary Teacher Education

Curriculum

Teacher’s class-room behaviour should be
good because :

(A). It will set an example.

(B) Students will be more attentive.

(C) Environment would be conducive

to learning.

(D) Students will appreciate it.

Ancient Indian teachers applied some

psychological principles in educating the

- young child. They recognized the role

of :

(A) Convent system of schooling.

(B) Sense and perception in learning
and teaching.

(C) Gurukul type of schooling.

(D) None of the above.

51.

52.

53.
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54. To start any work, continue and
regularise is the process of :

(A)
(B) Motivation
(C) Thinking
(D) Attitude

Adjustment

55. As a teacher, which behaviour of a
student will you consider as a serious
matter ?

(A) If a student asks too many
questions.

(B) If he does not complete his home

work.

If he talks to the students while you

are teaching.

(©)

(D) To be slow in studies.
56. In order to develop rapport with your
pupils, you should :
(A) Dbehave with them in a democratic
way.
(B) guide them.
©
(D)

have communicative ability.

all of the above.

57. You are interested in teaching profession

because :
(A)

(B) There is financial security

It holds less responsibility

—

C) Itis a dedicated profession

(D) There are more number of holidays

54.

55.

56.

57.
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" '58. Some students are considerably slow

learners in your class. You will prefer to :

(A) ~teach them separately.

(B) allow them to learn with the general
students.

(C) demote them to lower class.

(D) make arrangements for special

learning programme.

59. The Chairman of the first education
commission established by Indian
Government after Independence was :

(A) Dr. Radhakrishnan
(B) Dr. Zakir Hussain
(C) Dr. DS. Kothari |
(D) Dr. Mudaliar

60. Some students do not show 5ny signs of
understanding under such circumstances.

I would rather not :

(A) waste any time on them.

(B) feel motivated to teach them.
(C) feel impatient but try to simplify.
(D) scold them.

61. A teacher can guide students very much
effectively, because :

(A) Students obey teacher’s orders
(B) He is the boss of the students
(C) Students fear him

(D) He

psychology

understands  students’
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-62. ~A teacher is considered effective teacher
when he/she :

(A) follows specific methodologies

(B) selects
experiences

variety of learning

(C) has an impressive personality

(D) maintains a high level of pass
percentage of students in the

examination

63. The intelligence of an individual can be
rightly defined as :

(A) A quality of his learned behaviour
(B) A potential fixed qualify of the
genes

(C) A natural gift which is inherent in
a person

D) A cohstant and unmodifiable
quality of behaviour

64. To educate “according to nature”

means :
(A) toreturn to the natural ways of life.

(B) to provide education according to
the natural laws of human

development.

(C) to study natural law’s and apply
them to educational process.

(D) None of the above.
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“You have a class which is very

heterogeneous in height. You should

allow a seating arrangement :

(A) Which is random

(B) Where smaller students are allowed
to sit in such a way that they can
see easily |

(C) The class activities which is purely

based on heights

(D) That has taller students on one side

The .- of -allround

development of a child is on :

66. responsibility

The teacher
Child himself
Society

Both teacher and parents

How should a teacher behave with the
students ?

Father like
Friend like

67.

General
Elder like

68. Person responsible for administration in

a school is :
(A)
(B):
(©)
(D)

Principal
Director of Education
Education Officer

None of these

65.
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67.
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69.

70.

71.

If a teacher is unable to answer pupil’s
question, he should :

(A) say that he will answer after

consultation.
(B) say that the question is wrong
(C) rebuke the pupil

(D) feel shy of his ignorance

The principle behind the celebration of
religious festivals in school is to :

(A) create awareness about different

religion

(B) invoke the feeling of cultural unity

(C) bring social harmony

(D) all of the above

A child in school will be called a problem
child when :

(A) Heisable to solve problems of other
children..

(B) Heis very resourceful in suggesting
good problems for the class.

(C) He behaves such that it becomes a
problem  for the teacher to

understand him.

(D) None of the above.
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72.

73.

74.

75.

Sameer is a shy student. What should be

teacher’s most appropriate behaviour

towards him ?

(A) Make him the leader of one of the
group in a classroom activity

(B) Givesindividual attention and often
talks to him

(C) Asks about his behaviour in a
particular situation

(D) Ignores him

The aim of education is to :

(A) Prepare the students for job

(B) Ensure allround development of
personality

(C) Help the students to pass the
examination.

(D) Develop the ability of social
interaction.

Self confidence in a teacher is needed
while he is :

(A) Talking to public

(B) Going on the way

(C) Teaching in'his class

(D) Talking to his parents

Children learn best when :

(A) they are engaged in lecture method
(B) teacher is knowledgeable

(C) students are motivated and

involved

(D) teacher teaches well

72.

73.

74.

75.

GET IT ON
Google Play

R T yHien v ® 1 faee w1 suk wia
g1 SUYHR SRR I BT AT ?

(A) =9 e wy Tfarary H R T 9

w1 wfafafe sAm 1

(B) S wAfRITa ¥ ¥ = § wE © St
ST S AR HET B

(C) Tt fodiw afifeurf # 39 =R ¥
Teiferd w9 I

(D) 3 TSRS Il B |

e HFI R T

(A) ToenfeEl @l e 0 % A S

(B) waferiea o waitior fermre o1 Hifve
HET

(C) ey faenfeidl =1 worer BN H Hera
Y& T

(D) wmIfser s{a:fF w6 & guar w6
foremma T

foeer # srfavare w STAvEHd € S
g ¢

(A) STEE § IR W

(B) T W = wIEl

(C) STuT ey o S1EArT Y W'

(D) 3197 Hr-Ten § st L

o= gaiow giEd § 99

(A) =% =aren fafy gr dera @ s
(B) fimers SR &

(C) B ARHRE ik g &

(D) ek oTes1 TgId

SPACE FOR ROUGH WORK / T% &1 & ford s

9120/ TF-DT/PP-E

Set - A


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal2417]

76.

77.

The three language formula at the lower
secondary stage of classes VIII to X
recommended by the Indian Education
Commission (1964-66) was as follows :

Mother
Language + English

(A) Tongue +. Regional

(B) Mother
Language + Hindi + English

Tongue. or Regional

Mother Tongue or Hindi + English
+ a Regional Language

Mother Tongue + Hindi + a
Regional Language

(D)

The major responsibility with which
school personnel have been entrusted is
that of :

(A) Adjusting social demands to the

needs of the child.

(B) Adjusting the child to conform to
the demands of society.

Changing human nature to
conform to the social expectations.

Preparing the child to change the
society.

76.

77.
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78.

79.

80.

What'is not applicable to National Mid

Day Meal Programme ? _

(A) It has been operational since

(B) It is aimed to the goal of
universalization of Elementary
Education

(€) TIthelps to accomplish the objectives
of Education for sustainable
development

(D) It the
malnutrition among children

addresses issue of

A teacher involves the students in the
cleanliness activity in the school. This is

an indicative of :

(A) Value development activity
(B) Community based activity
(C) Social awareness activity

(D) Environmental awareness activity

If you are planning to write a book for

-middle school children, which of the

following should be your main

consideration :

(A) It should contain lots of coloured
pictures.

(B) It should provide the latest material
on the subject.

(©) It should logically cover the entire
field of the subject.

(D) It should be with glossy pages and

fine binding.

78.

79.

80.
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FIFTH PART/UeiH T
General English

‘Are you supposing I'm going to take
you out ?

In the above sentence the underlined
words ‘ supposing “ and going " are used
as:

(A) gerund and continuous tense form.

(B) continuous tense form and gerund

(C) both are used as continuous tense
form.

(D) Dboth are used as gerunds.

Choose the incorrect synonym for ‘sure’ :
(A) Confident

(B) Convinced

(C) Positive

(D) Surreal

“You'd rather go.........

Choose the correct question tag for the
above sentence.

(A) would you ?
(B) wouldn’t you ?
(C) hadn’t you ?
(D) had you?
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94, The one word substitution for “to give
somebody the wrong idea or impression
and make them believe something that is
not true” is :

(i) mislead

(i) deceive

Choose the most appropriate answer :
(A) Only (i) is correct

(B) Only (ii) is correct

(C) Both (i) and (ii) are correct

(D) None of the above is correct

Read the following passage and answer
question number 95, 96 and 97.

. The four elements of sportsmanship are
often shown being good form, the will to win,
equity and fairness. All four elements are critical
and a balance must be found among all four
for true sportsmanship to be illustrated. These
elements may also cause conflict as a persbn
may desire to win more than play in equity and
fairness and thus resulting in a clash within the
aspects of sportsmanship. This will cause
problems as the person belive they are being a
good sportsman but they are defeating the
purpose of this idea as they are ignoring two
key components of being sportsman like. When
athletes become too self-centred, the idea of
sportsmanship is dismissed.

Today’s sporting culture, in particular the
base of elite sport, places great importance on
the idea of competition and wining and thus
sportsmanship takes a back seat as a result. In
most, if not all sports, sportsman at the elite level
make the standards on sportsmanship and no
matter whether they like it or not, they are seen
as leaders and role models in society.

GET IT ON
Google Play

95. Isit necessary to strike a balance between ...

all the four elements of sportsmanship ?
(Choose the most appropriate answer)
(A) No
(B) Yes

+(C) Any two can be balanced
(D) Only one is sufficient

96. When does the spirit of sportsmanship

die ?

(Choose the most appropriate answer)

(A) When the sportsman becomes too
self centred.

(B) When the player loses the will to
play.

(C) When the sportsman behaves badly.

(D) None of the above.

97. Why has sportsmanship taken a back seat
today ?
(Choose the most appropriate answer)
(A) Due to lack of balance between the

elements.
* (B) Due to drug abuse.

(C) Due to the emphasis on winning.
(D) None of the above.

Directions : (Questions 98-100)

- Ineach questidn there is a passage of six
sentences the first and the sixth are given in
the beginning. The middle four sentences in each
have been jumbled up and labelled PQRS. Find

out the proper order for the four sentences.

(Choose the most appropriate logical order)
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98.

99.

S1:

S6 :

P:

Q:

R:

I usually sleep quite well in train,
but this time I slept only a little.

It was shut all night, as usual.
Most people wanted it shut and |
wanted it open.

As usual, I got angry about the
window.

The quarrel left me completely
upset.

There were too many people too
much huge luggage all around.

Choose the most appropriate answer :

(A)
(B)
(©)
(D)

Sl

56 :

RSQP
SQPR
SQRP
RSPQ

Once king Shantanu met a young
and beautiful fisher girl.
Devavrata, the king’s son, asked
him the reason of his sadness.

He went to the fisherman and asked
him for her hand in marriage.

The king was extremely sad and
returned to his palace.

He fell in love with fisher girl.

The fisherman agreed to it on
condition that the son of his
daughter should be heir to the
throne of Hastinapur.

Choose the most appropriate answer :

(A)
&)

(©)

(D)

PQRS
PSQR
QSPR
RPSQ

100. S1:

S6 :
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The heart is pump of life.

All this was made possible by the
invention of heart lung machine.

They have even succeeded in heart
transplants. -

Nowadays surgeon’s are able to
stop a patient’s heart and carryout
complicated operations.

A few years ago it was impossible
to operate on a patient whose heart

was not working properly.

If heart stops we die in about five
minutes.

Choose the most appropriate answer :

@

(B).

©)

(D)

'SRQP

SPRQ
SQPR
SRPQ

-00o0-
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Note :

1. This Question Booklet consists of Five Parts :
(i)  First Part : General Mental Eligibility - 30 Marks
(i) Second Part : General Knowledge - 20 Marks
(iii) Third Part : Educational Interest - 30 Marks
(iv) Fourth Part : General Hindi - 10 Marks
(v)  Fifth Part : General English - 10 Marks

Each question contains 1 mark. All questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.

No negative marking will be done.

Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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